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#include <iostream>
#include <stdlib.h>
#include <string.h>
#include <math.h>
using namespace std;
int main(int argc, char *argv[]){
//calculate the area of a triangle.
//command line parameter is angle C(degree).
int i=1;
double a,b;
double ans,myans;
char message[128];
a=2.;
b=10.;
ans=pow(a,b);
strepy(message,"What is 2 to the 10th ?(Calculate 2°{10})>");
cout <<message;
cin>>myvans:
if(myans==ans){
cout << "Right !" <<end],
1
elsed
cout << "No..." <<endl;

}

cout << "Your answer is "<< myans <<end],
cout << "Real answer is "<< ans <<endl;
return O;

}
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#tinclude <iostream»>
#include <stdlib.h> power 2.cxx
#tinclude <string.h>
#tinclude <math.h>
using namespace std;
int main(int argc, char *argv[]){
//calculate the area of a triangle.
//command line parameter is angle C(degree).
int i=1;
double a,b;
double ans,myans_l,myans_u;
char message[128];
a=2.;
b=10.;
ans=pow(a,b);
strepy(message,“Estimate 2 to the 10th ?(Calculate 27{10})”);
cout <<message<<endl;
cout <<"lower?> ”;
cin>>myans_l;
cout << upper?> ”;
cin>>myans_u;
iflmyans_D>myans_u){
cout << “The lower limit is larger than the upper limit. Exiting” <<endl;
return 1;
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iflmyans_ u= ansHmyans l==ans){
cout << “Bingo! <Kendl;
1
else iflmyans_l<ans&&ans<myans_u){
//never write myans_l<ans<myans_u !!
cout << "Your estimation is right. The answer in in your range.” <<endl;

1
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elsef
//never write myans_ikans<myans_u !!
cout << ”"Your estimation is wrong. The answer in out of your range.” <<endl;

}

return 0;

}
power 2.cxx :2D10FEHEET DT BT T A,



6.2.2 switch 3

#include <iostream>

#include <stdlib.h> power_3.cxx
#tinclude <string.h>

OSWltChQ:J:%)ﬁj\u&%) E‘l‘ﬁlé #tinclude <math.h>
switch (%;&) { using namespace std;
int main(int argc, char *argv[]){
case 1ﬁ1 //calculate the area of a triangle.
93??3(1, //command line parameter is angle C(degree).
break; int 1=1;
double a,b;
case 1ﬁ2: double ans,myans;
92?]1312; char message[128];
break; Eizlb; .
default: ans=(int)pow(a,b);
9'_'%?]—‘13 strepy(message,”What is 2 to the 10th ?(Calculate 2°{10})>”);
break: cout <<{message;
’ cin>>myans;
} switch((int)(myans—ans)){
case 0:
cout << “Right!” <<endl;
break;

caseDfEEL CTHUILA DL, EHDH LI T default:

cout << ”"No...” <<endl;

break;
1
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;é/rsz’ #include <iostream>

} #include <stdlib.h> fact_2.cxx
#tinclude <string.h>

#tinclude <math.h>

using namespace std;

Owhile3  ZR{EDNHT-S VA EERV IR

int main(int argc, char *argv[] )
while (5514) { _ _ {
o j{ #finclude <iostream> //calculated the factorial
FAT #include <stdlib.h> " int n,ians:
. . act 1.cxx 1 AlLS,
} #tinclude <string.h> - iflarge> 11
ttinclude <math.h> n=(int)atof{argv[1]);
using namespace std; }
elsef
int main(int argc, char *argv[]) n=1:;
{ }
//calculated the factorial i=1:
int n,i,ans; ans=i;
iflarge> 11 whilei<=n){

} n=(int)atoflargv[1]); ¥t hj:tab '(‘;EAIJ X@J D ans=ans*i;

cout << i<< "¥t” << ans << endl;

. . 0 else{ ; ':[ i++'
1:1+1 . k 1++; | n=1 @ Fla v //i++ is same as i=i+1
S }
j | | L‘/ ans=1; cout << “#” << nd<"1 = "<ans << end];
u_n for(i=1;i<=n;i++{ return 0;
o . k . //i++ is same as i=i+1 }
1_1' 1 1" ans=ansi;

. cout << i << "¥#t” << ans << endl;
1[5 L/ } fact 2.cxx :MEREZHETDHI BT T A
IS cout <& << T= <Kans << end; (glg I;ﬁ
return 0; "
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a=a+tb;

a+=b;
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fact 1 5 O % fact 5.datéL TE—7 LTI, (cat TH HHifER)
fact_1% n)BIENEIZENTHEL TP DICE T T 5, i— ZfFED, fact 3.cxx

fact 1% *= ZHWTEX#Z A, fact_4.cxx
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6.3 gnuplot
CCEH B LU AR A I/ 7L THEZR L=\
gnuplot : fEHE/27Z7HiEY 7~

$gnuplot T\L.H L0535, LLT fact_5.datdDdHdirectory™
gnuplotZ 3. Tz &L THIZR,

gnuplot > plot “fact_5.dat” \ ‘
2750)*%&: 15| B ZAfifih241] B 24t L7227 Z 7 D3|

gnuplot > set log vy — Htdhzloglz 45
gnuplot > setgrid —gridz 3%/~

gnuplot > plot [0:6][0.1:] ‘fact_5.dat’ using 1:2 title
“factorial” with points 3

TEHEORRIZ ETFHLINIEX,y, Drange
usinglIFNZFEE title CHBNATIT AL FE$RE
with UL N C~—h—0DOFEAEE,

~ /a7 7 ANVEMINAST X AN 7 A VIl w U RER
CECR L C(show fact.pltZzZ 71 —NR)

gnuplot> load "show_fact.plt” L THRILIENTEA,

EERDY— L R BEE A pdf filel U THRAF AT BE,




< gnuplot® <> R4 >
Y5 yc plot “filename”  filename% plot

Yeyevr plot ) X&Epot Koof x, xkx2, exp(x)
Y Yoy replot “filename”  filename% -4

Yevevx load “macrofilename”  finacroilename? e iATe

Jeve (un)set log x(y) x(y) & log A — AT 5(fRERT5)
¥ plotdA 7 ar (]
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